Finite and Infinite Generalized Back Ward q-Derivative Operator on its Application

Vinoth Kumar C Department of Mathematics, St.Joseph's College(Autonomous),Jakhama Kohima District- 797001 Nagaland, India

Abstract:- In this paper, the author define the generalized q-derivative oprator and obtain its relation with shift operator. Also, we present the discrete version of Leibtz theorem according to the generalized q-derivative operator. By defining its inverse, and using Stirling numbers of first kind, we establish formula for the sum of higher power of geometric progression in the field of first of Number Analysis.

Keywords:- Generalized q-Derivative Operator, Polynomial Factorial, Geometric Progression.

I. INTRODUCTION

The theory of q- derivative equation is based on the definition of the q- derivative operator is definied as

 $\nabla_q y_k = y_{kq} - y_k$

where y_k is a sequence of positive integers. The definition of $\nabla_q y_k$ is simply the derivative between two successive operator on two variable and turns to be suitable for dealing with the Cauchy polynomials. Also, derivative a binomial identity which unifies the two identities of Rota and Godman, as well as the q-Vandermond identity.

With this background, in this paper, we develop the basic theory for the generalized q-derivative operator $\nabla_{q(\alpha)}y_k$ and obtain relation connecting $\nabla_q u(k)$, and $\nabla_{q(\alpha)}u(k)$ and, $\nabla_{q(\alpha)}u(k)$ and E^q and the basic properties of $\nabla_{q(\alpha)}u(k)$ and also obtain a formula for finding the sum of the higher powers of geometric progressions using generalized inverse q-derivative operator.

II. PRELIMINARY

In this section, the author defined the generalized q-derivative operator and obtaining the relation between the shift operator and generalized q-derivative operator and polynomials.

2.1. Definition Let u(k) be a real valued function defined on $[0, \infty)$, Then the generalized q-derivative oprator is defined as $\nabla_{q(\alpha)}u(k) = u(qk) - \alpha u(k)$ (1)

2.2. Lemma The Relation between generalized q-derivative operator and q-shift oprator is $\nabla_{q(\alpha)} = (E^q - \alpha)$

 $\nabla_{q_1,q_2(\alpha)} = \prod_{t=1}^2 \left(E^{q_t} - \alpha \right)$

$$\nabla_{q_1,q_2,q_3(\alpha)} = \prod_{t=1}^3 (E^{q_t} - \alpha)$$

2.3. Lemma If c_1 and c_2 are non-zero sclars and u(k) and v(k) are real valued function on $[0, \infty)$, then $\nabla_{q(\alpha)}[c_1u(k) + c_2v(k)] = c_1\nabla_{q(\alpha)}u(k) + c_2\nabla_{q(\alpha)}v(k)$

$$\nabla_{q_1,q_2(\alpha)}[c_1u(k) + c_2v(k)] = c_1 \nabla_{q_1,q_2(\alpha)}u(k) + c_2 \nabla_{q_1,q_2(\alpha)}v(k)$$
$$\nabla_{q_1,q_2,q_3(\alpha)}[c_1u(k) + c_2v(k)] = c_1 \nabla_{q_1,q_2,q_3(\alpha)}u(k) + c_2 \nabla_{q_1,q_2,q_3(\alpha)}v(k)$$

2.4.Theorem [9] If k is a positive integer, then $\prod_{i=1}^{n} \nabla_{q_{i}(\alpha_{i})}^{-1} k^{n} = \frac{k^{n}}{\prod_{i=1}^{n} (q_{i} - \alpha_{i})}, q_{i} \neq \alpha_{i}$

Proof: From (1) and Definition 4.1, and proof shoud end with a square \square

(3)

(2)

(4)

(5)

ISSN No:-2456-2165

(7)

III. FINITE Q-DERIVATIVE SERIERS.

3.1. Theorem Let $k \in (-\infty, \infty)$, then

$$\nabla_{q(\alpha)}^{-1}u(k) - \frac{1}{\alpha^t}\nabla_{q(\alpha)}^{-1}u(kq^t) = \sum_{r=1}^t \frac{-1}{\alpha^r}u(kq^{r-1}), k > 0, q \neq 0, \alpha > 0$$
(6)

Proof: From (1) and Definition 4.1, we have

 $v(k) = -\frac{1}{\alpha}u(k) + \frac{1}{\alpha}v(kq)$ Replacing *k* by *kq* in (16) and substituting in (16), we obtained

$$v(k) = -\frac{1}{\alpha}u(k) - \frac{1}{\alpha^2}u(kq) + \frac{1}{\alpha^2}v(kq^2)$$

Proceeding like this we get $v(k) = -\frac{1}{\alpha}u(k) - \frac{1}{\alpha^2}u(kq) - \frac{1}{\alpha^3}u(kq^2) - \dots - \frac{1}{\alpha^t}u(kq^{t-1}) + \frac{1}{\alpha^t}v(kq^t)$

which gives (6)

3.2. Theorem Let $k \in (-\infty, \infty)$, then

$$\begin{bmatrix} \frac{1}{\alpha^{t}} \nabla_{q(\alpha)}^{-1} u(kq^{t}) \end{bmatrix}_{t=n}^{m} = \sum_{r=m+1}^{n} \frac{-1}{\alpha^{r}} u(kq^{r-1}), k > 0, q \neq 0, \alpha > 0$$
Proof: From (1) and Definition 4.1, we have
(8)

$$v(k) = -\frac{1}{\alpha}u(k) + \frac{1}{\alpha}v(kq)$$
⁽⁹⁾

Replacing k by kq in (1) and substituting in (9), we obtained

$$v(k) = -\frac{1}{\alpha}u(k) - \frac{1}{\alpha^2}u(kq) + \frac{1}{\alpha^2}v(kq^2)$$

Replacing k by kq repeately we find

$$v(k) - \frac{1}{\alpha^m} v(kq^m) = \sum_{r=1}^m -\frac{1}{\alpha^r} u(kq^{r-1})$$
(10)

Repacing m by n in (19), we get

$$v(k) - \frac{1}{\alpha^n} v(kq^n) = \sum_{r=1}^n -\frac{1}{\alpha^r} u(kq^{r-1})$$
(11)

Assume that m < n. Now (8) – (11), gives,

$$\frac{1}{\alpha^{m}}v(kq^{m}) - \frac{1}{\alpha^{n}}v(kq^{n}) = \sum_{r=m+1}^{n} -\frac{1}{\alpha^{r}}u(kq^{r})$$
(12)

The following examples illustrate (8)

3.3. Example By taking p = 5, in Theorem 3.6 and

 $\begin{array}{l} k = 12, q = 6, \alpha = 5, m = 1 \ and \ n = 2 \ in \ (17), \ we \ get, \\ \hline \begin{array}{l} \frac{1244160}{60427296} - \frac{6220800}{469882653700} = \sum_{r=2}^2 \ 5^{r-1} (\frac{12}{36})^5 = 0.020576131 \end{array} \end{array}$

3.4. Corollary If $\alpha < q, u(k)$ is bounded and

$$\lim_{n\to\infty}\alpha^n v(\frac{k}{q^n}) = 0, then$$

$$\alpha^m \nabla_{q(\alpha)}^{-1} u(\frac{k}{q^m}) = \sum_{r=m+1}^{\infty} \alpha^{r-1} u(\frac{k}{q^r}$$
(13)
In particular

In particular,

$$\nabla_{q(\alpha)}^{-1}u(k) = \sum_{r=1}^{\infty} \alpha^{r-1}u(\frac{k}{q^r})$$
(14)

Proof: Proof follows by taking $n \to \infty$ in (8) and (14) follows by putting m = 0 in (13)

3.5. Theorem Let $k \in (-\infty, \infty)$, then

$$\nabla_{q(\alpha)}^{-1}u(k) - \alpha^{t}\nabla_{q(\alpha)}^{-1}u\left(\frac{k}{q^{t}}\right) = \sum_{r=1}^{t} \alpha^{r-1}u\left(\frac{k}{q^{r}}\right), k > 0, q \neq 0, \alpha > 0$$

$$(15)$$

Proof:From (1) and Definition 4.1, we have

$$v(k) = u(\frac{k}{q}) + \alpha v(\frac{k}{q})$$
(16)

Replacing k by kq in (16) and substituting in (16), we obtained

$$v(k) = u(\frac{k}{q}) + \alpha u(\frac{k}{q^2}) + \alpha^2 v(\frac{k}{q^2})$$

Procuding like this we get

$$v(k) = u(\frac{k}{q}) + \alpha u(\frac{k}{q^2}) + \alpha^2 v(\frac{k}{q^2})$$

which gives (15)

3.6. Theorem Let $k \in (-\infty, \infty)$, then

$$[\alpha^{t}\nabla_{q(\alpha)}^{-1}u(kq^{t})]_{t=n}^{m} = \sum_{r=m+1}^{n} \frac{-1}{\alpha^{r}}u(\frac{k}{q^{r}}), k > 0, q \neq 0, \alpha > 0$$
Proof: From (1) and Definition 4.1, we have
$$(17)$$

$$v(k) = u(\frac{k}{q}) + \alpha v(\frac{k}{q})$$
(18)

Replacing k by kq in (17) and substituting in (32), we obtained

$$v(k) = u(\frac{k}{q}) + \alpha u(\frac{k}{q^2}) + \alpha^2 v(\frac{k}{q^2})$$

Replacing k by kq repeately we find

$$v(k) - \alpha^{m} v(\frac{k}{q^{m}}) = \sum_{r=1}^{m} \alpha^{m-1} u(\frac{k}{q^{m}})$$
Repacing *m* by *n* in (19), we get
(19)

$$v(k) - \alpha^n v(\frac{k}{q^n}) = \sum_{r=1}^n \alpha^{n-1} u(\frac{k}{q^n})$$
Assume that $m < n$. Now (20) – (19), gives,
(20)

$$\alpha^m v(\frac{k}{q^m}) - \alpha^n v(\frac{k}{q^n}) = \sum_{r=m+1}^n \alpha^{r-1} u(\frac{k}{q^r})$$
(21)

The following examples illustrate (17)

(23)

IV. INFINITE Q-DERIVATIVE SERIES

In this section, the author derived the sum of higher power of geometric progressions using the inverse of generalized qderivative operator.

4.1. Definition The inverse of genegalized q-derivative operator denoted by $\nabla_{q(\alpha)}^{-1}$ is defined as if $\nabla_{q(\alpha)}v(k) = u(k)$ then $v(k) = \nabla_{q(\alpha)}^{-1}u(k)$ and the n^{th} order inverse operator denoted by $\nabla_{q(\alpha)}^{-n}$ is defined as $\nabla_{q(\alpha)}^{n}v(k) = u(k)$ then $v(k) = \nabla_{q(\alpha)}^{-n}u(k)$

4.2. Theorem Let $k \in (\infty, -\infty)$, $\lim_{r \to \infty} \frac{1}{\alpha^r} u(kq^r) = 0$ then

 $\nabla_{q(\alpha)}^{-1}u(k) = -\frac{1}{\alpha} \sum_{r=0}^{\infty} \frac{1}{\alpha^r} u(kq^{r-1}), k > 0, q \neq 0$ (22)

Proof: From (1) and Definition 4.1, we have

 $v(k) = -\frac{1}{\alpha}u(k) + \frac{1}{\alpha}v(kq)$ Replacing *k* by *kq* in (29) and substituting in (29), we obtained

$$v(k) = -\frac{1}{\alpha}u(k) - \frac{1}{\alpha^2}u(kq) + \frac{1}{\alpha^2}v(kq^2)$$

Continuing this process, we get (22).

4.3. Theorem Let
$$k \in (\infty, -\infty)$$
, $\lim_{r \to \infty} \frac{1}{\alpha_1^r} u(kq^r) = 0$ then

$$\frac{1}{\alpha_1 \alpha_2} \sum_{r_1 = 0}^{\infty} \sum_{r_2 = 0}^{\infty} \frac{1}{\alpha_1^{r_1} \alpha_2^{r_2}} u(kq_1^{r_1 - 1}q_2^{r_2 - 1}) = \nabla_{q_1(\alpha_1)}^{-1} \nabla_{q_2(\alpha_2)}^{-1} u(k)$$
(24)

Proof: Proof followed by From (1) and Definition 4.1 and Theorems 4.2.,

4.4. Theorem Let $k \in (\infty, -\infty)$, $\lim_{r \to \infty} \frac{1}{\alpha^r} u(kq^r) = 0$, then

$$-\frac{1}{\alpha_1\alpha_2\alpha_3}\sum_{r_1=0}^{\infty}\sum_{r_2=0}^{\infty}\sum_{r_3=0}^{\infty}\frac{1}{\alpha_1^{r_1}\alpha_2^{r_2}\alpha_3^{r_3}}u(kq_1^{r_1-1}q_2^{r_2-1}q_3^{r_3-1}) = \nabla_{q_1(\alpha_1)}^{-1}\nabla_{q_2(\alpha_2)}^{-1}\nabla_{q_3(\alpha_3)}^{-1}u(k)$$
(25)

Proof: Proof followed by From (1) and Definition 4.1 and Theorems 4.2., 4.3.

4.5. Theorem Let
$$k \in (\infty, -\infty)$$
, then $\sum_{(r)_{[1 \to t]}}^{\infty} \prod_{t=1}^{p} \alpha_t^{-r_t} u \left(\prod_{t=1}^{n} q_t^{r_t} k \right) = (-1)^p \prod_{t=1}^{i} \alpha_t^{r_t} \nabla_{q(\alpha)_{[1 \to t]}}^{-1} u(k)$ (26)

Proof: Proof followed by From (1) and Definition 4.1 and Theorems 4.2., 4.3., 4.4.

and proof shoud end with a square

?

4.6. Example By taking p = 10, in Theorem2.4 and k = 15, q = 9, $\alpha = 0.25$, m = 4 and n = 2 in (17), we get, **4.7.**

$$\frac{15^{10}}{9^{10} - 0.25} = \sum_{r=1}^{\infty} (0.25)^{r-1} (\frac{15}{9^r})^{10} = 165.3817169$$

The following Corollary illustraes Theorem 4.8

4.7. Corollary If *n* is positive integer, then

$$\sum_{r=1}^{\infty} \frac{a^{r-1}}{q^{rn}} = \frac{1}{q^{n-\alpha}}, \alpha > 0, q^n \neq \alpha$$
(27)

Proof: The proof follows by substituting $u(k) = k^n$ in (31)

4.8. Theorem Let $k \in (-\infty, \infty)$, then

$$\nabla_{q(\alpha)}^{-1}u(k) = \sum_{r=0}^{\infty} \alpha^r u(\frac{k}{q^{r+1}}), q \neq 0$$

(28)

Proof: From (1) and Definition 4.1, we have

$$v(k) = u(\frac{k}{q}) + \alpha v(\frac{k}{q})$$
(29)

Replacing k by $\frac{k}{a}$ in (29) and substituting in (29), we obtained

$$v(k) = u(\frac{k}{q}) + \alpha u(\frac{k}{q^2}) + \alpha^2 u(\frac{k}{q^2})$$

Continuing this process, we get (28).

4.9. Theorem Let
$$k \in (\infty, -\infty)$$
, $\lim_{r \to \infty} \frac{1}{\alpha^r} u(kq^r) = 0$ then

$$\sum_{r_1=0}^{\infty} \sum_{r_2=0}^{\infty} \alpha_1^{r_1} \alpha_2^{r_2} u(\frac{k}{q_1^{r_1+1} q_2^{r_2+1}}) = \nabla_{q_1(\alpha_1)}^{-1} \nabla_{q_2(\alpha_2)}^{-1} u(k), q \neq 0$$
(30)

Proof: From (1) and Definition 4.1

4.10. Theorem

Let
$$k \in (\infty, -\infty)$$
, $\lim_{r \to \infty} \frac{1}{\alpha^r} u(kq^r) = 0$

$$then \sum_{r_1=0}^{\infty} \sum_{r_2=0}^{\infty} \sum_{r_3=0}^{\infty} \alpha_1^{r_1} \alpha_2^{r_2} \alpha_3^{r_3} u(\frac{k}{q_1^{r_1+1} q_2^{r_2+1} q_3^{r_3+1}}) = \nabla_{q_1(\alpha_1)}^{-1} \nabla_{q_2(\alpha_2)}^{-1} \nabla_{q_3(\alpha_3)}^{-1} u(k), q \neq 0$$
(31)

Proof: From (1) and Definition 4.1

4.11. Theorem Let $k \in (\infty, -\infty)$, then

$$\sum_{(r)_{[1 \to t]}}^{\infty} \prod_{t=1}^{p} \alpha_t^{r_t} u(\prod_{t=1}^{n} q_t^{-r_t+1} k) = \prod_{t=1}^{p} \nabla_{q(\alpha)_{[1 \to t]}}^{-1} u(k) (32)$$

Proof: Proof followed by From (1) and Definition 4.1 and Theorems 4.8, 4.9, 4.10 and

?

Proof shoud end with a square

V. CONCLUSION

The author derived several results and theorem using qderivative and its inverse and they were verified with example. By taking different fuctions u(k) and v(k) one can obtain corresponding finite and infinite series formulas.

ACKNOWLEDGEMENT

The author acknowledges the manegement of St.Joseph's College (Autonomous), Jakhama for the support and encouragement in carying out the research.

REFERENCES

- [1]. F.M.Atici and P.W.Eloe., A Transform Method in Discrete Fractional calculus, , International Journal of Derivative Equations,2(2)(2007),165176.
- [2]. R. A. C. Ferreira and D. F. M. Torres, *Fractional h-difference equations arising From the calculus of variations, Applicable Analysis and Discrete Mathematics*, 5(1) (2011), 110-121.
- [3]. Jerzy Popenda and Blazej Szmanda, *On the Oscillation* of Solutions of Certain Difference Equations, Demonstratio Mathematica, XVII(1), (1984), 153 - 164.
- [4]. M.Maria Susai Manuel, G.Britto Antony Xavier and E.Thandapani, *Theory of Generalized Difference Operator and Its Applications*, Far East Journal of Mathematical Sciences, 20(2) (2006), 163 - 171.

- [5]. M.Maria Susai Manuel, V.Chandrasekar and G.Britto Antony Xavier, *Solutions and applications of Certain Class of* α - *Difference Equations*, International Journal of Applied Mathematics, 24(6) (2011), 943-954.
- [6]. M.Maria Susai Manuel, V.Chandrasekar and G.Britto Antony Xavier, *Theory of Generalized* α - *Difference Operator and its Applications in Number theory*, advances in differential equations and control processes, 9(2)(2012), 141-155.
- [7]. M.Maria Susai Manuel, V.Chandrasekar and G.Britto Antony Xavier, *Generalized α –Bernoulli Polynomials through Weighted Pochhammer Symbols*, Far East Journal of Mathematical Sciences, Vol. 4, No. 1, 2013, 23-29.
- [8]. K.S.Miller and B.Ross, Fractional Difference Calculus in Univalent Functions, and Horwood, Chichester, UK, 139-152,1989.
- [9]. M. M. Susai Manuel, G.B. A. Xavier, V. Chandrasekar and R. Pugalarasu, *Theory and application of the Generalized Difference Operator of the* nth kind(Part I), Demonstratio Mathematica,vol.45,no.1,pp.95-106,2012.